IBPS RRB CLERK (PRE)-12/2022

Q-1 A and B started a business with initial investment in the respective ratio of 5:8. After four months from the start of the business, A invests Rs.3000 more and
eng hin  after two more months B invested Rs. 1000 more. If ratio of profit share of A and B is 7.9 after a year, then what was A's initial investment?

AT BT 5: 8% A AqTd § TTE3a fAarer & 912 U 7a|r 9% T =& i &1 8§ 91 7gi 918, A ¥ 3000 %. stferen fHaer B
T IT AL A1E B T 1000 ¥ 377 et 3 72 v a % 913 A 3T B 3 SATSILT &7 SIq9Td 7: 9 8, AT A T ITLIHF FRarer 77 a2

01. 4000 02. 4500
03. 3500 04. 5000
05. None of these
TAH S TRl
Solution for Question 1 Ans Key: 4

eng hin 554+ (5x+3000)x8 7
8% 6+ (8x+2000)%6 O
After solving 5x=5000
T HH T 5x=5000

Q-2 The strength of students at Mahendras is 8000. The no. of boys and girls is increased by 15% and 20% respectively. As a result, the strength becomes
350. Find the difference between the no. of boys and girls in Mahendras.
HeeaT | farmfoiat €7 @A 8000 g1 A=l 3ii¥ At &7 Tear § F#AA: 15% 3T 20% ¥ i g1 70 v FFr=nfaii 1 dwear 9350 21 |7t 2
TewsT § A2 37 Asfat £t @A #7 siaw s e

01. 1500 02. 3000
03. 2000 04. 2500
05. None of these
TAH T FIS ARl
Solution for Question 2 Ans Key: 3

From allegation rule

15 20
16.875

3.125 1.875=5:3

—= 2000
2

Required answer= 000>

o & ffaw &
15 20
16.875
3.125 1.875=5:3
refTE 3=
Q-3 The average age of a family of 5 members was 28 years. 4 years later, the oldest member of the family died at the age of 60. On the same day, a child was

eng hin born in the family. What would be the average age of the family 12 years after the death of the oldest member?
5 qIEdT % UF qRETT AT ofaa Ay 28 a9 off| 4 a9 a1, TRET F qay ot aa T i 60 a9 & oy H g g7 v 36y faA, ufaw ¥ uw ag
ST EAT| HEH o AaeT A 9o F 12 F9 78 TET T SiEa s/ 47 g2

01. 30 02. 35

03. 36 04. 34

05. None of these

i TS T
Solution for Question 3 Ans Key: 5
eng hin Required answer= M S
5
i geree J= 5 —60+12x5 1
5

Q-4 A shopkeeper marked the price of a book above 60% of its cost price and gives two successive discounts of x%, he still makes a profit of 15.6%. Find

eng hin value of x.

TF THARTT ATAT AN T F 60% T FAL T TEq il DA 310 FHIAT § 3T X% F a1 FIHF G T &, a8 oTHT HY 15.6% FT ATH FATAT g1 X
FT HIE ST FHifoU)




01. 12% 02. 10%
03. 20% 04. 25%
05. None of these

TAH S qQl

Solution for Question 4

Ans Key: 5

eng hin lﬂﬂ—xxlﬂﬁ—x_
100 100

On solving x=15%

160 x 115.6

100-x 100-x
100 100
T FA T x=15%

160 x =115.6

Q-5 Raman can do a piece of work in 45 days and Anju can do same work in 75 days. After work together for 12 days, Anju stops working. How many days

eng hin  Raman will take to complete the work that is left?

THT 45 a1 § U FTT FT qHAT ¢ 37 375] 75 &A1 & THF F1F F Tt g1 12 7 T A1 F1F F7F % d78, 39 7 F7F FLAT 9% H [>T 575

TUFHTH &1 T F3A | THF A7 fohae faa e
01. 258 02. 263
03. 255 04. 251
05. None of these

T A TS TR

Solution for Question 5

eng hin 45 15x3x5 5
75 3
Work done in 12 days=12x8=96
Work left=225-96=129
Required answer=129/5=25.8

45 15%x3x5 5
75 3
12 Tt % fopra T s =12%8=96
AT FTF=225-96=129
IvTE 3TT=129/5=25.8

Passage for Question 6, 7, 8,9, 10 (ST-12 IBPS RRB CLERK PRE(6-10M)2022)
eng hin Passage

Study the following information carefully and answer the questions given below

Percentage wise distribution of total number of refrigerators sold by the shopkeeper in six different months

Total number of items sold=60000

m January = February = March = April May = June
In different months sale of company X as percentage of sale of company Y.

X as percentage of ¥

160
140

140
125
w —
100

Ans Key: 1




a8

(=}

=

100 -
83.33
75 7142
&
40
!
0
Iay

lanuary Felaruary March April June

Referfad ST 7 e IE® 98 oY F= & T st #1397 3
g AT Tl § FHTRTL FILT I ST ATl LRSTLe i el ST &1 Fraeraare faaeor

FT =7 T FEGIAHT FT FEA=60000

20

[
x)

=]

aieail Tai At ) EE] EC
Q-6 Number of refrigerators of company X sold by the shopkeeper in January and February together is approximately what percent of total number

eng hin  refrigerators sold by the shopkeeper in March?
AT T FALT § THRET G J4[ s F0T X F Lhoie? il HE&AT 919 H AT GIT a9 ST aTel o LhSTLeT 1 H&AT T oha«r graerd

2
01. 78% 02. 86 %
03. 74 % 04. 929%
05. 69 %
Solution for Question 6 Ans Key: 2

eng hin  Number of refrigerators of company X sold by the shopkeeper in January and February together

=2 x ix 60{}{]0—1:( i}: 60000 =10300
9 100 12100

Total number of refrigerators sold by the shopkeeper in March =20/100x60000 = 12000

Required percentage = s x100% =~ 86%
12000



AT ST FALT § THIAGTE I =1 T2 H0A 1 U o LOhsIie] i HeT=
5 17 7

% 60000+ x 2 % 60000=10300
00 12 100

AT § AT I a9 ST AT LRSTE? T e §eq1=20/100%60000 = 12000
arsfre wfer = 1290 1000, -+ 5604

12000
Q-7 Find the respective ratio of total number of refrigerators of company Y sold by the shopkeeper in February to that of in April.
eng hin A T 9T § THMST G FAAT Y F 9 M0 LRSI T A HEAT T HATST ST A1 I tor |
01. 158 02. 17:9
03. 8:15 04. 9:17
05. None of these
TAH HA(E qal
Solution for Question 7 Ans Key: 1
eng hin  Total number of refrigerators of company Y sold by the shopkeeper in February
=2 . 18 . 10200= 4500
12 100
Total number of refrigerators of company Y sold by the shopkeeper in April
Required ratio = 4500 : 2400 = 15:8
AT § GHTARTE T =7 T F7 ars % Wsre it et semr= . 19 10300 = 4500
ST § AT GIT =1 T T [ ATs o LhsTeet Eﬁir‘ffﬁ'@l‘k.}. ; 60000 = 2400
ST STUTT = 4500: 2400 = 15: 8
Q-8 Find the difference between numbers of refrigerators of company X sold by the shopkeeper in June and number of refrigerators of company Y sold by the
shopkeeper in May.
S H AR G 41 T2 FAAT X F I(rsTies i HedT 3T 95 § FHTIETE G a4l Te FAAT Y oh LRSIy sl HEAT & a1+ $q< A1 hiford|
01. 2600 02. 2400
03. 2200 04. 2300
05. None of these
T A A
Solution for Question 8 Ans Key: 3
Number of refrigerators of company X sold by the shopkeeper in June
:_i ;: 60000=5000
Number of refrigerators of company Y sold by the shopkeeper in May
— _I.i i ﬁ::::t::t:::i 2= -: 00
i1 100
Required difference = 7200 — 5000 = 2200
. . . 5 2
Gﬁﬁwmaﬁ‘rﬂ%%ﬁX%%ﬁmﬁ?aﬁW:l%x%xeoooo:sooo
. . . 22
ﬁﬁwméﬁﬁWY%Wﬁa@h%xﬁxﬁoooo = 7200
F9f1e T = 7200 - 5000 = 2200
Q-9 Find the total number of refrigerators of company X sold by the shopkeeper in January, February, May and June.
eng hin  STALT, T, 6L ST A § THAIL G A= 5 HAT X 5 LASTLaT i1 ol F&AT A1 i fora 1\
01. 13200 02. 21300
03. 23100 04. 12300
05. None of these
TAH FATE TRl
Solution for Question 9 Ans Key: 2
eng hin  Total number of refrigerators of company X sold by the shopkeeper in January, February, May and June=

(5 12 7 18 5 22 5 200
Wt —x—t—x—+—x— |=60000=21300
9 100 12 100 11 100 12 100/



ST, BT, TS 3T A | gHHETE GIT a1 T2 FH9T X F IhsTee? il FHoT 1=
(5 12 7 18 5 22 5

207
Crg e S 160000 =21300
9 100 12 100 11 100 12 10[3!I

Q-10

eng hin

Total number of refrigerators sold by the shopkeeper in March is what percent more than the number of refrigerators of company Y sold by the
shopkeeper in January?
AT H FHIAETT GTT o ST AT LRSI T el ST STAat § gHFETL GIT Sl T8 HOAT Y F Lhsiey & #eat F fohaer qiaerd srfers g2

01. 255% 02. 265%
03. 235% 04. 275%
05. None of these
e tL i
Solution for Question 10 Ans Key: 4
eng hin  Total number of refrigerators sold by the shopkeeper in March = 20% of 60000 = 12000
Number of refrigerators of company Y sold by the shopkeeper in January = i ® i = 60000 = 3200
9 100
Required percentage = 120003200 %100%=275%
3200
ATH § FHEITT ZIT 9 ST AT LRSIET T FHel H&AT = 20% of 60000 = 12000
ST § gARRTE GTET A= 1 FaeT Yo Yohsreed it f@ear= © . 12 60000 < 3200
e e = —::I:“:”:I —3200 1002 =275%;
Passage for Question 11, 12, 13, 14, 15, 16, 17, 18, 19, 20 (ST-12 IBPS RRB CLERK PRE(11-20M)2022)
eng hin Passage
What value should come at place of question mark (?) in the following question?
raforfrg s & wor f3rew (2) F = a9 ITFAT AT AT AT
Q-11 w2 ol ek wd o
01. 20 02. 195
03. 18.75 04. 20.25
05. None of these
TAH TS Tal
Solution for Question 11 Ans Key: 5
:3—9;—'_'_;—6;:'.
2 7 3 13
1=(5+9+11=-6)+| +—+— =
3 12 4 2)
18
=19+—=19+1.5=2035
12
Q-12 g5 Fx 5= 257
eng hin
01. 2 02. 1.75
03. 2.25 04. 25
05.  None of these
= B
Solution for Question 12 Ans Key: 3

enghin 65 + 1225 = 21 — x

1875 = 21 —x

=2l = 1&T5

s e ¥4



Q-13

1332 +36%23 + 287-199="

eng hin
01. 919 02. 929
03. 939 04. 949
05. None of these
TAH HFIS Tl
Solution for Question 13 Ans Key: 3
eHERIDSS 1332 s 287 199 -7
36
7-§51-287-199 =938
Q-14 2.8% of 2580 + 16% of 685 ="
eng hin
01. 179.44 02. 174.26
03. 189.66 04. 181.84
05. None of these
TAH F FIS ARl
Solution for Question 14 Ans Key: 4
eng hin  ?==72.24+109.6=181.84
Q-15 (153 x1331)+ (11 x 17) ="
eng hin
01. 1084 02. 1089
03. 1092 04. 1099
05. None of these
TAH T FIE T2
Solution for Question 15 Ans Key: 2
enghin
Q-16 5376+ 24x13-703=7"-05
eng hin
01. 45 02. 47
03. 46 04. 43
05. None of these
T T FIE T2
Solution for Question 16 Ans Key: 4
enghin 7’ —£376-24%13-703+95
7=48
- 5 2
Q17 43,42 L9 25001158
eng hin T A
01. 155 02. 18.25
03. 175 04. 195
05. None of these
TAH F FIE AR1
Solution for Question 17 Ans Key: 3
enghin 33 14 . _025x158
22+7=395
T
Q-18 12473 — 1016 — 10137 + 21477 = ? + 8553

eng hin



01. 14244 02. 15008
03. 14808 04. 14314
05. None of these

TAH A TG

Solution for Question 18 AnsKey: 1

eng hin 12473 — 1016 — 10137 + 21477 = ? + 8553
?=12473 -1016 — 10137 + 21477 — 8553

? = 14244

- - i 4
Q-19 (04T x400=4000af (04 = —
enghin =~ 0 100

01. 04 02. 40
03. 4 04. 2.5
05. None of these

TAH FFIE AR1

Solution for Question 19 Ans Key: 3

040404400

Q-20 185% of 500 — 46% of 1650 =5x?

01. 31.1 02. 332
03. 349 04. 30.7

05. None of these

TAH | A(E ARl

Solution for Question 20 Ans Key: 2

185% of 500 — 46% of 1650 = 5x?

= 185% of 500 —46% of 1650 = 5x?

= (925 — 759) = 5x?
= 166 = 5x?

= 7=332

Q-21 In how many different words can be formed from the letters of the word "MAXIMUM", when all the 'M' are never together?

- "MAXIMUM" 2158 % &A% T AT Feh fohd el 9168 I SITT ot g i aeft ‘M shefy ot =mer 77 e
01. 720 02. 360
03. 120 04. 126
05. None of these
TAH HA(S Aol

Solution for Question 21 Ans Key: 1

eng hin
Required Arrangement = "_I 2 1531
3t 3l
=840-120

=720

sftg wre = 33
3l 3!
=840- 120
=720




Q-22

eng hin

Find the time taken by a train 265 meter long, running at a speed of 43.2 km/h to cross a river bridge 252 meter long. (in seconds)

265 Hiew ot 7 g St 43.2 FRfy / sy Y wifa & =1 T2¥ 8, 317 252 Hiew & T4 % Tl 7 9% F7F § 90 q97 A1 Fiord| (FFhe §)

01. 35 02. 38
03. 41 04. 43
05. None of these

T ATE TE

Solution for Question 22 Ans Key: 4

eng hin

0-23

Total distance=265+251=516 meter
> 12 mis

=

Speed=43 2«
1

(=]

51
second

Required answer= 4

Lad

-

F]A FL=265+251=516 HTex

TAA=43 2% =12 HA.
18
afte gae=-10 _ 43 Ame

12

15 men or 25 women can complete a work in 120 days. 20 men start the work and after 30 days 30 women replaced them. Find the time taken by
women to complete the remaining work.

15 =9 AT 25 FZATH 120 341 § UF T T FT T 21 20 TEOT T F18 % a7 27 30 3491 % 712 30 wigersi 7 32 gfoenfa & fa=m
wiATsl GTT @< g0 TH 1 T2 H7A # T FHT AT o)

01. 65.25 02. 66.67
03. 675 04. 65.83

05. None of these
T A TS AR

Solution for Question 23 Ans Key: 2

Q-24

eng hin

£

Let total work=15x5x120=9000

Work done in 30 days=20%5%30=3000
Remaining work=9000-3000=6000

Required answer= 'q_ L ‘_ — 66 67 days

A4

3| Lk

HET A HE=15x5%120=9000

30 =1 & 3T 1T F1d=20%5%30=3000
AT FTF=9000-3000=6000

asfi gae= 0 _ 2N 67 R

30x3 3

Ananya was married 8 years ago and ratio of her present age to the age of her at the time of marriage is 4:3. After 5 years of marriage she gave birth to a
baby. Find the sum of age of Ananya and her baby 3 years hence.

ST T ATTAT 8 | Tgol g= o1 ST 9TaT o THT IHHT AW A FT ATATT 4: 3 §| ATET 6 5 T AT& I T G HI S+ (4TI THT 3 1A
Y AT AT IqF qY T Y T TRT AT For|

01. 33 02. 42
03. 4] 04. 40

05. None of these
TIH A FIS Tl

Solution for Question 24 Ans Key: 3

eng hin

Present age to the age of her at the time of marriage=4:3
here 1=8

so 4=32 (Present age of Ananya)

here baby present age=3

Required answer=32+3+2x3=41

faaTg & a9 SEehr o A A 39 =4:3

T8t 1=8

q: 4=32 (AT T TAHTH 39)



I T T AT IF=3
F9TY ITAX=32+3+2x3=41

Q-25 Simple interest for a sum of Rs.1550 for 2 years is Rs.20 more than the simple interest for Rs.1450 for the same duration. Find the rate of interest?
eng hin
1550 &. 9% 2 9T 7 AT.34TS 1450 F. T THT T97T F 9T, 3779 F 20 F. AT 1 5777 67 2 377 Frfore?

01. 59 02. 10%
03. 14% 04. 19%
05. None of these
TAH H A TRl
Solution for Question 25 Ans Key: 2

eng hin
1550><2><R_1450><2><R _20
100 100
200R
— =20
100
=R =10%

Passage for Question 26, 27, 28, 29, 30 (ST-12 IBPS RRB CLERK PRE(26-30M)2022)
eng hin Passage

Find the value of variables and state the correct relationship-

T HTATT ATT FII02 TAT TG Gy egqrivg £ -

01. X>y 02. xgy
03. X<y 04. xEy

0S. x =1y orrelationship between x and y
cannot be established
x =y AT r= =q7f0q 721 o o
T

Solution for Question 26 Ans Key: 1

X =748

T

o

X>y

Q-27 19¢ — 45x + 56 = 0

01. x>y 02. xSy
03. x<y 04. X2y

05. x =y orrelationship between x and y
cannot be established
X =y IT T TATOT AT 6T ST
AT
Solution for Question 27 Ans Key: 1

enghin x=28/3,7/3
y=2,15
X>y

Q-28 Ix*+
enghin 7742

01. X > y 02. x< y
03. x < y 04. X> y
05. x =y orrelationship between x and y



cannot be established
X =y AT TFewe TATAT Tat AT ST

FRAT|
Solution for Question 28 Ans Key: 3
enghin x=.2 -3
y=-1,-122
X < y

Q29 1 +11x+30=0
enghin 7 2i7p412=0

01. X > y 02. x< y
03. x < y 04. X > y
05. x =y orrelationship between x and y
cannot be established
X =y AT e TATOT T2l 6T ST
HHRAT|
Solution for Question 29 Ans Key: 3
X =-6, -5
y=-4,-3
X<y
Q30 I -x—110=0
v+ 24v +140 = 0
01. x> y 02. x >y
03. x< y 04. x <y

0S. x =y orrelationship cannot be established
[N N
x=y IT Tl TITTOT Tl [ehAT ST T

=
Q

Solution for Question 30 Ans Key: 2

x=11,-10
y=—14,-10
X>y

Q-31 A and B entered into a partnership with investments of Rs 24000 and Rs 30000 respectively. After 4 months A left from the business at the same time C
joins with Rs 36000. At the end of 16 months they got Rs 7350 as profit. Find the share of C.
AT B T FA: 24000 T 3T 30000 FF F 2T F T ATHI 6Tl 4 A & A8 A T BIE 2T g 341 797 C 36000 0 5 1 ST
Bl 16 AR & oI § Ive HT ATH 7350 FTF fHd g1 C &7 ZFaT J1d 7|

01. 3200 02. 3350
03. 3300 04. 3150
05. None of these
TAH H A TRl
Solution for Question 31 Ans Key: 4
enghin  4325000:16x20000:12x36000
=2:10°9

Required answer=7330 o350
91

HATE 3R=7350+2 3150

21

Q-32  Adiceisrolled twice. Find the probability of getting their odd number or a multiple of 5.
eng hin T TTE T &1 AT HT STAT &1 ITHT TR UF [0 AT T 5 3T 00 S 01 TTAHAT S Hiford |

01. 02.

oo|u1
;|un



03. 3 04. 7

4 12
05. None of these

T ATE TE

Solution for Question 32 Ans Key: 4

eng hin

L R
2736 12

Q-33

eng hin

If A can do 12.5% of a work in 6 days and B can do 1/5 of the same work in 12 days, how much will B get if both work together and are paid Rs 972 in
total?

Tfe A Rt 1 % 12.5% ART FT 6 faA1 § 7 Gham 2 o7 B 3H 71 % 1/5 AWT #7112 faat § 7 7ar €, a1 B F7 fhaet iy foen afz 2=t
T | FHTH FA & AT HA 360 FTT FHT ST 63T STAT 82

01. 420 02. 432
03. 345 04. 390

05. None of these
TAH HFIS Tl

Solution for Question 33 Ans Key: 5

eng hin

Q-34

Ratio of efficiency= : L 5

48 &
a

Required answer=97 2

el T Tqaa= L. L 5.4

&

IHY Idl=97>

| e =

A car travels from A to B at a constant speed. If its speed were decreased by 5 km/hr it would have been taken 12 min more to cover the distance. It
would have taken further 48 minutes more if the speed was further decreased by 15 km/hr. Find the initial speed of car. (in km/hr)

TF L T T T AT B TF TTAT gl T zoehr wfq 5 Fredt / ser 0 g7 ot a1 38 a7 &6 ® 12 e srféres s avmam otz ofa =6 15 Bty
2T 3T 7 T AT T 7 77 48 e T 3T oY1 v Y g wiq s e (e #)

01. 60 02. 75
03. 80 04. 60

05. None of these
TAY A S A8l

Solution for Question 34 Ans Key: 3

Sx(§-5) Sx{§-20)

2 5 20

On solving s=80 km/hr

i s :
= = xtd
|51_S:
Sx(8§-5) 1 SX(S—EU\J
- S— = = %1
= L 20

B A W s=80 forHi/sier

Q-35

eng hin

A child has 3 different kinds of chocolates costing Rs 2, Rs 5 and Rs 10. He spends a total Rs. 140 on the chocolates. Find the sum of minimum and
maximum chocolate he can buy with one condition that he must buy from all varieties?

T T & TTH 3 S-S THTL o FATHAS g ol o 2 T, 5 797 3T 10 T &1 I Alohele T2 HA 140 TG @4 67| TR AT HI50T a8
IATH AT ATAFAH Rt FAFore G ThaT g = 90 6 a1 36 37 a9 ohe 3 Aiwole giear 2

01. 80 02. 85
03. 82 04. 90
05. None of these

T A T

Solution for Question 35 Ans Key: 3

eng hin

To buy maximum chocolates we must buy Rs 2 chocolate more.
10x1=10



5%2=10 (we can’t buy one chocolate from Rs 5 because we have amount in even no)
2x60=120

Total chocolate (1+2+60)=63.

To buy minimum chocolates we must buy Rs 10 chocolate more.

2x5=10

5%2=10 (we can’t buy one chocolate from Rs 5 because we have amount in even no)
10x12=120

Total chocolate (5+2+12)=19

Required answer=63+19=82
Ffershay Fiehore @itad % o g8 2 F93 1T Aol STeh T gl

10x1=10
5%2=10 (9 5 FIT ATAT UF ATFoIS gl @G Thd 2 F11%h AT TTE ST T ¢ I8 TH E)
2% 60=120

F AlEere (1 +2 + 60) = 63

IATH AlFheie @i & forw g# 10 Fiware Aferes @da=r gnm

2%x5=10

5x2=10 (9 5 FIT ATAT UF FTFoIE Aal @G Thd 2 F11%h AT TTE ST T ¢ a8 TH E)
10 x 12 =120

FA AlFeAS (5+2+ 12) =19

arefTe ITT =63+19=82

Passage for Question 36, 37, 38, 39, 40 (ST-12 IBPS RRB CLERK PRE(36-40M)2022)
eng hin Passage

Read the following information carefully to answer the questions asked-

TR T % 37T F forg Fraforfas srasrd a1t s« o3-

The given table shows the no. of branches of Muthoot finance in 5 different City, total no. of employee in that city and bar graph represents the respective ratio of

male to female employees in city.

Z TS AT 5 A orget # qe wreA A st A FF qAT, 3T ML § /A FHATIT T HEAT T AT ATF T8 H TET TAT AIZAT HHATAT HT
A STITT 90T 2

City Branches Total no of
employees

“Allahabad 16 240

Kanpur 18 360

Unnao 14 168

Sitapur 22 [352

Hardoi 24 480

Ratio of male and female

&
4
2 I
a

Al=habad Kanpur Unnao Sapur Hardol

B Male ® Female

e T, e U] ohl AT
TG 16 240

FAR 18 360

T 14 168

Hidag 22 352

S 24 480

Y TAT AfGET T I

14




f

(=]

[=]

ERIFEIH

third Jwald Hldlg

Uy SalEer

Q-36

eng hin

Find the ratio of female employee working in Allahabad and Kanpur branches together to male employee working in Hardoi branch.
TATETETR ST FHIAYL T ATETSAT § TF T FIH FTA ATAT A AT FHATAL 50T ST TAT GLATS 1 ATET § FHTH FA qTel TH FHATAT 67
TEAT T ST AT T

01. 5:4 02. 2:3
03. 7:5 04. 9:4
05. 4:9
Solution for Question 36 Ans Key: 2
eng hin 8 _sua B g
Required ratio=21= _ - 18 ==
Z %480
3
3 40 < ; &1 g
g orgurg=12____ 18 -Z
Zx 48
8
Q-37 Average no. of female employee working in each branch of Sitapur are how much percent more or less than average no. of female employee working in
eng hin  each branch of Hardoi.

Solution for Question 37

eng hin

HATE T TeF 9Tl § FTAC AT HIZAT FHATIAT T TEAT GLars i T ATl § FTALT e Figar FHATAL 7 6T 7 o gfaerd
STfere AT FH 82

01. 16.67% 02.
03. 13.33%
05. None of these

TAH & 1S TRl

12.5%
04. 8.83%

Ans Key: 5

Total number of females in Sitapur= ; %352 =15
16

Average of female employee working in each branch of Sitapur= if =7

Total female employee working in Hardoi= _ % AR0 =180
2

180

Average of female employee working in each branch of Hardoi=""" _7 3

Required percent—

><10Cl 6— "o
3

Wﬁmﬁﬁ'ﬁﬁw=%x3sz=as4
AT T TeAF AT § w1 H‘%ﬂTﬁn‘ﬁ?‘l’ﬁﬁ@W=E=-

BIATS H T HTA ATl [ AT HHATL = _><4go 180

wh

g@%ﬁ%?@ﬁmwmﬁmeﬁw=@=
aﬁﬁgﬁm=?'5f?x1n{}=6§%

15

Q-38

eng hin

Find total no. of female employee working in these 5 cities.

T 5 AEIN | FHTALT AigaAT FHATRAT #07 HoA FGAT AT AT

01. 606 02. 644



03. 498 04. 541
05. 675

Solution for Question 38

eng hin

Q-39

eng hin

Total female employee:%x 240+%x360+§x168+1'—:6><352+%><480 =606

@mm:i><240+13—8><360+§x168+$x352+%x480 =606

12

Ans Key: 1

If 30% employee from Allahabad are post graduate and ratio of male to female post graduate employee in Allahabad is 5 : 3. Then find the difference of

non-post graduate male employee and non-post graduate female employee in Allahabad.

TS TATETATE % 30% FHATL TIEE YS[UE & 3T TATSIATE § T&T TAT HIZAT TIee YS[UE FHATL T JFITT 5: 3. 8, AT TATSIETE | AMF-T1%e

IS T FHAT ¥ ATA-T1ee IS[Ue AIZAT FHATI FT T AT HITord |

01. 41 02. 22
03. 33 04. 17
05. 29

Solution for Question 39

eng hin

Q-40

eng hin

Total male employee from Allahabad= _ 240 =140

Total female employee from Allahabad= ; 240=100
Post graduate from Allahabad= _n 240 =72

Male post graduate employee from Allahabad= _ 2 =45

Female post graduate employee from Allahabad= _ 72— 27

Non-post graduate male employee from Allahabad=140-45=95
Non-post graduate female employee from Allahabad=100-27=73
Required difference=95-73=22

ZATETETS T /T HIGET FHAT = = 5240 = 100

2. 5

SATEIETE & 9% US[UC & = 2 240 = 100

TATETETE & T T e FHAE = 2 240 = 72

ZATETETE | AT Tree IS0 FHAT =2 1 72 = 45

TATETETE H TT-TTEE IS0 T&T FHAT =140-45=95
TATRTETE & -1 YU AigdT FHAATL =100-27=73
THIE AT =95-73=22

Ans Key: 2

If 33 male employees and 15 female employee retires from Sitapur zone, then in remaining employee male employees are approximately how much percent

T2 FATE & 7 33 T2 FHATL ¥ 15 AiZAT FHAT HATRGT 21d @, a1 AT FHATRIT § T2 FHAT TTArd AT FHATIAT F T

of female employee.

e widera 2

01. 108% 02. 97%
03. 119% 04. 112%
05. 123%

Solution for Question 40

eng hin

Total male employee in Sitapur=198

Male employees after retirement=198-33=165
Total female employee in Sitapur=154

Female employees after retirement=154-15=139

Required percentage= 155 %100=119
139

AT § o &7 FHAT = 198

AT & 78 T FHATT = 198-33 = 165
AT § e AT FHAT = 154
YaTHAgT & 918 AiRar FH=ET = 154-15 = 139

Ans Key: 3



mﬁQﬁ:%xlOU%llQ

Q-41 In a certain code ‘MAGNITUDE’ is written as ‘ICORGLGFW’. How would ‘SELECTION’ be written in that code?
enghin  TF [T S § ‘MAGNITUDE’ & ‘ICORGLGFW’ for@T STt €1 39 %€ # ‘SELECTION’ 7 % forar o

01. NGURACPQK 02. NGURBCPQK
03. NGURACCQK 04. NGURACPQD
05. None of these
TAH (S ARl
Solution for Question 41 Ans Key: 1
eng hin
MAG 11 HDE
ﬂ* / X
| CO RGL GFW
Q-42 The position of how many digits in the number 2451479638 will be changed when the digits in the first half and the second half are arranged in ascending
order separately?
AT 2451479638 ¥ Torae siaht it ferfar aaet SO STy Tge SIer AT T THY 9T & SRl T SToNT- ST S¥ial wH | SHAATeqd o ST 82
01. None 02. One
EAEE UF
03. Three 04. Four
kil RS
05. None of these
BEEEGEIERE
Solution for Question 42 Ans Key: 5

24515 79638
12455 36789

Passage for Question 43, 44, 45, 46, 47 (ST-10IBPSRRBCLERKPRE(1-5R)2021)
eng hin Passage

Study the following information carefully and answer the question given below.

frafafga sarasth &1 eamgd® arggaa L R fRoag g srsacd

Seven people M, F, H, R, Y, E, and B are working in different cities i.e. Mumbai, Pune, Delhi, Hyderabad, Indore, Bhopal and Chennai but not necessarily in the
same order. Each person gets only one day off in the week starting from Monday and ending on Sunday. No two persons have leave on the same day.

Person Y works in Hyderabad and his off day is on Friday. Only one person works between the persons Y and F. Person E works immediately after H but
immediately before B. Person E does not work in Indore. The one whose holiday is on Monday works in Delhi. Only one person works between B and the one
who works in Mumbai. Person H does not work in Mumbai. The one who works in Pune works immediately before the one who works in Indore. Person R does
not have a holiday on Monday. The one who works in Chennai does not work after the one who works in Mumbai.

a1 24T M, F, H, R, Y, E, 3T B S-S Qg1 o7Tq qas, o7, faeelt, 3a7maTs, S31e, AT 3T Aes § T 7 T2 © o1 &l qel 1o g6l wd §
El| T AT &l AT & % gIHT LAdTE il GHTH g aTel G078 H had U (o 6l gel fHadt g et off 27 =afrat 7 gt g8 & 92 7@l grat
2l

TR Y 2XTaTE | FTF FIAT @ ST SHAT AT FT (&7 AT T g1 Y 37T F AREAT % J1+ haol Uk Ak F14 wdT gl ATh E, H ¥ 315 918 A B
F S Tl HTF FLAT gl AT E Z31T § T Agl T g g SATh [STHHT SAqah1eT AT &l 7, faedt § 1 F2ar g1 B 3T §aS § F1F F a1 =41 &
HeT FAd Ueh ATk FT4 FdT g1 2Ah H gas § w13 921 F2d7 81 a8 AR ST 01 § H7F FdT 8, T H H1d F0 a7 T 6 ST Tgel 1 FdT 2
=Tk R T HIHATE &l STAHT9 Tl gl a8 SRR ST As § H1F FAT ¢, Ga< H FH FIH dT AT<hH 6 18 FTH Al FdT 8l

Q-43 If Delhi is related to Pune and B is related to R in a certain way, then to which to the following would Indore be related to, following the same pattern?

enghin T2 UF fRferg 8% & fawelt, 7or & HaifaT & o7 B, R & Haf4q 2, a1 I T2 7 e F7d g, T2 Meferfad # fad dafaa grm

01. Bhopal 02. Chennai
T EEE

03. Mumbai 04. Delhi



qag feett
05. None of these
BEEEIERE]
Solution for Question 43 Ans Key: 3
eng hin Day Person City
Monday M Delhi
Tuesday H Chennai
Wednesday E Pune
Thursday B Indore
Friday Y Hyderabad
Saturday R Mumbai
Sunday F Bhopal
&= e R
FHaR M ]
TR H EEH
AR E o
BlEE] R ga%
Q-44 Person B works in which of the following city?
=fr B feforfaa & & o org? & & #ear 82
01. Chennai 02. Mumbai
03. Delhi 04. Bhopal
ot AT
0s. Indore
ELIES
Solution for Question 44 Ans Key: 5
eng hin Day Person City
Monday M Delhi
Tuesday H Chennai
Wednesday E Pune
Thursday o indore
Friday Y Hyderabad
Saturday R Mumbai
Sunday k2 Bhopal
e T RU
FHaR M feeet
LU EITS H EPES
ELE E i
TRaR B EE
Year Y gaEg
TR R Hasg
LICGIY F YOS
Q-45 How many people work between people M and R?

eng hin

M =T R =Rt & He fohae safeh 1 e 82



01. None 02. One
EIECE Tw
03. Two 04. Three
ar q=
05. Four
C1ES
Solution for Question 45 Ans Key: 5
eng hin Day Person City
Monday M Delhi
Tuesday H Chennai
Wednesday E Pune
Thursday B Indore
Friday Y Hyderabad
Saturday R Mumbai
Sunday F Bhopal
il T MR
HHaR M feeet
OIS H EFF]
FHUaR E oot
TedR B ETAR
IR Y EETIGIE
=4l R aa_?:
EEIR E HIHTe
Q-46 On which of the following days does person H has a holiday?
eferfea & & o faw =af<s H %7 stashrer grar 82
01. Monday 02. Tuesday
03. Wednesday 04. Thursday
ECEIES LICEIES
0S. Friday
HATL
Solution for Question 46 Ans Key: 2
Day Person City
Monday M Delhi
Tuesday H Chennai
Wednesday E Pune
Thursday B Indore
Friday Y Hyderabad
Saturday R Mumbai
Sunday F Bhopal
e ofed MER
HHIR M feel
EEGGIRd H EEF]
FHUAR E o
TedR B E{AL
PIGEEIE Y goEg
PIEGIT R s
BICEINS F IO




Q-47 Which of the following people has an off day on Monday?
enghin  Feferfea § & fr =1f<e 7 Swam 1 e gar a2
01. B 02. E
03. H 04. M
05. Cannot be determined
Rratfa gt frar ST Ferar
Solution for Question 47 Ans Key: 4
eng hin Day Person City
Monday M Delhi
Tuesday H Chennai
Wednesday E Pune
Thursday B Indore
Friday Y Hyderabad
Saturday R Mumbai
Sunday = Bhopal
= iR RIS
LB M fgeet
cidis H P
R E gl
Sd B ELES
&diR Y EEEIE
L ICES R Hag
JIdd® F HidTer

Passage for Question 48, 49, 50, 51, 52 (ST-10IBPSRRBCLERKPRE(6-10R)2021)
eng hin Passage

Study the information given below and answer the questions based on it.
A= T T ATTHTE T ASTIT B M TIT T TG T 6 IR

SANIMY4@DF3ESZ#RB7SHUOWPSI2*6 Q91

Q-48 Which of the following is the seventh to the right of the nineteenth from the right end of the above arrangement?

FreforfEd § T F9-97 ST SHaET F 78 ST F S9! F 213 qiae #4711 97 22

01. 1 02. D

03. 7 04. §

05. U
Solution for Question 48 Ans Key: 5
enghin. 8ANTMY4@DF3E5Z#RB7$HUOWPS3J2*6Q9I
Q-49 Four of the following five are alike in a certain way based on their positions in the above arrangement and so form a group. Which is the one that does not
eng hin  belong to that group?

YL HFEAT | FAT ot & sy o Referfaa o= § & =9 us [fd ais & 99 8 o7 UF 93g a97d 8| 98 FIH-97 8§ 51 39 998 T

REIREREE

01. D#N 02. JIH

03. 5%4 04. $55

05. RO3
Solution for Question 49 Ans Key: 5
eng hin  There is a difference of 5 letters to the left and right of the first letter in each of the options according to the series.

SEHT F AT Tea fashed § Tger 31e7¥ F 970 S a0 5-5 37eA<) 7 3idv gl




Q-50 How many such consonants are there in the above arrangement each of which is immediately preceded by a symbol and immediately followed by a letter?

eng hin ST AT § UH Fhaw =9 § SAH & T00F 5 219 Tgo UF T 17 3% a18 UF J87 2

01. None 02. One
EIERE TF
03. Two 04. Three
ar LiE
05. More than three
SRR EICET
Solution for Question 50 Ans Key: 5

enghin . 8AN1MY4@DF3E5Z#RB7SHUOWPGJ2*6Q9I

Q-51 How many such numbers are there in the above arrangement each of which is immediately preceded by a letter and immediately followed by a symbol?

eng hin  IUIH T H UHT fraet Feamt 8 S & Jcde 1 ST Teet U T8 o T 31 418 U T i &2

01. None 02. One
s iy o
03. Two 04. Three
L GG
05. More than three
Solution for Question 51 Ans Key: 4

8ANTMY4@DF3E5Z#RB7SHUOWPOJ2*6Q9I

Q-52 If all the numbers and symbols are removed from the series and then all the letters are arranged in alphabetical order from left to right then which letter will
be 5th from the right end?
T ofet & @efl HeATst off¥ Tl FT g 23T S oivw 6 it stea<f 7 a0 7 I70 quigws | Hatedd AT Srav &, 91 FE-97 87 3T

B H 59T AIT?
01. H 02. U
03. R 04. Y
05. w
Solution for Question 52 Ans Key: 3

enghin 8§ ANIMY4@DF3ESZ#RB7SHUOWPGSJ2*6Q9I
ANMYDFEZRBHUWPJQI
ABDEFHIIMNPQRUWYZ

Passage for Question 53, 54, 55, 56, 57 (ST-10IBPSRRBCLERKPRE(11-15R)2021)
eng hin Passage

Study the following information carefully and answer the questions given below.

Fafafaa STastd &1 eamgd® segaT 3 A= frgagwiw s

Seven people P, Q, R, S, T, W and X sitting in a straight line facing north but not necessarily in the same order.

R sits at one of the extreme ends of the line. T has as many people sitting on his right, as on his left. S sits third to the left of X. Q sits on the immediate left of W. Q
does not sit at any of the extreme ends of the line.

a1 =T P, Q, R, S, T, W 3T X U# #teft Y&T & ITX T AT @ T 9% & AThe sALTF qgl 6T FH | gl

R 3% 3 ey T R B 7 35T 21 T3 2T e T 2 o0 35 # o 5 AT e 3% 31 S, X % an Ay e o A5 31 Q, W F A an der 3
Q df<h  foret ot sifow &= T =& 21 2

Q-53 If all the people are made to sit in alphabetical order from right to left, the positions of how many people will remain unchanged?

eng hin T2 T ATRAT 7 A0TLHA | 0 & a0 A3T F2 A7 ST, AT FHa=y A0 F #47 Aqafad ei?

01. Five 02. One
= TH
03. Three 04. None

05. Two

ar



Solution for Question 53 Ans Key: 2
eng hin o—0o—0—0—0—0—0

R § P T X Q W

Q-54  How many people sit to the right of P?
enghin P 210 AT fa =afwe o &2

01. Four 02. Five
EIEd =
03. Two 04. One
ar T
05. None
EIEE K
Solution for Question 54 Ans Key: 1

eng hin o—0o—0—0—0—0—0

R §$ P T X Q W

Q-55 Four of the following five are alike in a certain way, based on the information given above and so form a group which is the one that does not belong on that
eng hin  group?

UL AT L FAHEL F AT 7 etertad o § 7 =72 U [T als 8 9640 ¢ 7 Taig UF §9g a91d ¢ S 39 J9g § Hatad 7ol 87

01. s 02. p
03. X 04. Q
05. w
Solution for Question 55 Ans Key: 5

eng hin Oo—0C o—0C

Q-56 Who amongst the following are the immediate neighbours of S?

eng hin et § 19 S F Meean qemHT 82

01. TandR 02. Q and R
T#TR QTR
03. WandR 04. RandP
W ST R R 3T P
05. None of these
TAY T FTE A8l
Solution for Question 56 Ans Key: 4

eng hin o—0o—0—0—0—0—0

R 8§ P T X Q W

Q-57 Who amongst the following sits second to the right of the fourth person from the right end of the line?
enghin  FEferfEra & & =i i<k % a0 7 & =1 =7k % 0 gL #1990 927 22

01. W 02. Q
03. R 04. P
0S. None of these
TAH HHE TRl
Solution for Question 57 Ans Key: 2

Q
o)

eng hin o— 00— O0—0—0©

R §$ P T X Q W

Passage for Question 58, 59, 60, 61, 62 (ST-10IBPSRRBCLERKPRE(16-20R)2021)
eng hin Passage




In the following question, some statements followed by two conclusions (I and II) are given. Assuming the given statements to be true, find which of
the two conclusions is/are definitely true from the given statements and choose appropriate answer choice.

Fafafaa 7o & g FI1 F T3 7 s (T Frg T )| AT TTHIAE F1 97 A9 §, T T HFITT 6 gTTFA-7/4 Foawsd
fAfg s d aca 3/ shesfasatRswea g7

Q-58  Statements:

eng hin HI:
A>B=C>D<E=F;G=D>H>1=J
Conclusions:
IRLEOP
LG<A
ILF>1

01. OnlyIis true. 02. Only II is true.
Fael | 87 2 FaeT 11 77 )

03. Either I or Il is true. 04. Neither I nor 11 is true.
AT AT 1AT I &<T B AT N TT B
05. Both I and II are true.
I 3 11 ST e 2

Solution for Question 58 Ans Key: 5

Q-59 Statements:
EREH
X=L<D<G=M;U>E=D>F<B;E>0O>N<S
Conclusions:
Ao
I N<F
II.M>F

01. OnlyIis true. 02. Only Il is true.
Fad [ 77 2 Fae 11 87 2

03. Either I or II is true. 04. Neither I nor II is true.
AT AT L AT 1L T 2 TAT AT T L TAT 2
05. BothIandII are true.
1 7% 11 <17 e 2
Solution for Question 59 Ans Key: 2

eng hin

X=L<|D|=sG=M
U>E =F=<B
E>O=N<S

Q-60  Statements:

eng hin HI:
Q=J<D<G=K;W>E=D>X<C;K>0>V<S

Conclusions:

Aoy

LW>Q

ILK>C

01. Only Iis true. 02. Only II is true.
Fa [ T g Fad 11 97 gl

03. Either I or IT is true. 04. Neither I nor IT is true.
T AT 1 AT I & ) TATHT T & 1T )

05. Both I and II are true.
[ 37T [1 T T 2



Solution for Question 60

eng hin

Q-61

eng hin

Q=J<D|=sG=K>0=V<S
W>E=D=zX<C

Statements:

ER G H
A>B>G<D;G>E>F
Conclusions:

sy

ILA>F

I.B>D

01. Only Iis true. 02. Only II is true.
FAA [T g Fad 11 97 gl

03. EitherIor Il is true. 04. Neither I nor II is true.
T AT 1 AT I ) TATHT T & 1T BN

05. BothIandII are true.
I 3/ 11 ST 7T 2

Solution for Question 61

Q-62

A>B>G|kD
Gl>E>F

Statements:

Hq:
Q=C>E>R,P<O=R>U,Z<X<0>V
Conclusions:

Ao

.Q>Z

I.Z=Q

01. Only I's true. 02. Only IT is true.
Fa | 77 2 Fa 11 9 gl

03. Either I or II is true. 04. Neither I nor II is true.
AT AT L8 2 TAT LT T T 2|

05. Both IandII are true.
1 &7 11 ST e 2

Solution for Question 62

eng hin

v
e

IV

=C=E=
P =
< X< \'

Ans Key: 1

Ans Key: 1

Ans Key: 1

Passage for Question 63, 64, 65, 66, 67 (ST-10IBPSRRBCLERKPRE(21-25R)2021)
eng hin Passage

Study the following information carefully and answer the question given below.

Fafafaa TTasrd &1 samgd® segaT L A= RoagyrsrIacd

In a family of six persons — A, N, S, K, U and T. There are three males and three females. There are two married couples and two persons are unmarried. Each
one of them watches different movies, viz. Triangle, Blossom, Indira, Udaan, Saahas and Tejaswi but not necessarily in the same order.

U, who watches the movie 'Triangle', is mother-in-law of N, who is wife of S. K is the father of T and he does not watch the movie 'Saahas' or the movie 'Udaan'.
A watches the movie 'Tejaswi ' and the sister of T, who watches the movie '‘Blossom'. S does not watch the movie 'Saahas'.

T AR & TAH - A, N, S, K, U 3T T - T9 T2 37T 19 gy &1 a7 fEariad Sie § sfi¥ a7 oAt sffeared 8| 98 F Tode JevT-37eT hed

ST TTAURTS, sATEH, TR, SE, AT ¥ qoTedT T@dT & A STt qei f* &t %9 & gl
U, ST gm0t fhed 3T 2, a8 N i 919 g, ST S T 9dT g1 K, T 7 {91 8 3T ag “Aares’ fthew a7 ‘Sz fhew 78T a@ar 81 A ‘e e a@ar g
T T T8+ 8, ST serrad fhew Tarar 81 S ared fhew 78t aear 2l




Q-63  How many sons does K have?
eng hin K % fohere O 82

01. Two 02. Three
T GiGS

03. None 04. One
HTE T TF
05. None of these
TAH HHIE Tol

Solution for Question 63 Ans Key: 1

eng hin e i i

Triangle Indira

NE)D =S80 — T = AG
Saahas Udaan  Blossom  Tejaswi

U ¢ — K +)

Q-64 Which of the combination of the movie and person is correct?

oo =T =af=F T 19 97 HA0S H2T 22

01. K-Triangle' 02. A-'Tejaswi'
K -'Trer A A
03. S- “Indira’ 04. N-Blossom'
S - gfear N- &t
05. None of these
EQl T EF?TEE T‘I'ésf
Solution for Question 64 Ans Key: 2

eng hin i,

Triangle Indira

N == St = T+ == AG

Saahas Udaan  Blossom  Tejaswi

U ¢ K+
T iR

NO =S = T4 = A6

Q-65  Howis Nrelated to A?
enghin N, A ¥ %8 Hafdq 22

01. Daughter 02. Son
™
03. Sister-in -law 04. Brother
ez qTe
05. None of these
TAH HA(E ARl
Solution for Question 65 Ans Key: 3

eng hin

L ias



L % N
Triangle Indira

NG =8 = T = AG
Saahas Udaan  Blossom  Tejaswi

Ut 0o KM

NG == S = T ) = A G

Q-66 Who among the following watches the movie 'Sahas'?

enghin  FoferfEa & & Fi fhew |red @ 82

01. T 02. A
03. S 04. N
05. None of these

T A TS Aol

Solution for Question 66 Ans Key: 4

U= o K

Triangle Indira

N ) =St e— T (4) = A=

Saahas Udaan  Blossom  Tejaswi

Q-67  How is T related to U?
TUd F¥ &&feq 2?

01. Daughter 02. Son
T ™
03. Son-in -law 04. Brother
-7 qTe
05. None of these
TAH HHE Tol

Solution for Question 67 Ans Key: 2

eng hin e i i

Triangle Indira

Nt =8 = Ty = A
Saahas Udaan  Blossom  Tejaswi

U ) 0 K ()
T e

NGO =S = T = A®

Passage for Question 68, 69, 70 (ST-10IBPSRRBCLERKPRE(26-28R)2021)



eng hin Passage

Study the following information carefully and answer the question given below.

Frafafag STasTd £ 1 sqmga T stegaT R AR Ruarrar s

Point C is 9 m north of point D. Point K is 5 m west of point C. Point L is 5 m north of point D. Point E is 7 m east of point K. Point G is 3m north of point E.
fdgc, figDFoder e # B g K, Mg CcF s derufam a8 Hg L, g DF s der e #81 i E, g K ¥ 7 @ #2313 G, g EF 3
HeT ST H 2

Q-68  Whatis the shortest distance between point K and L?
enghin &g K 3T L% o= Aa#H g4 #4722

01. 8.55m 02. 6.40m
03. 10.01m 04. 35m
05. 11.58m
Solution for Question 68 Ans Key: 2
eng hin G
3
5 2
K C E
5
D
Q-69 What is the direction of point G with respect to point D?
fag D Heiy ¥ fdg G & fRar w22
01. South 02. North-East
aferor SAL-TF
03. East 04. North-West
05. None of these
TAH F AT Aol
Solution for Question 69 Ans Key: 2
3
5 2
K c E
L
9
5
D
Q-70  IfK walks 3 m north then what is the distance between K and G?
enghin 1% K 3T HT 0T 3 #iex Forar g, a1 K ¥ G F &= it 21 Fhar 22
01. 8m 02. 6m
03. 7m 04. 3m
05. I1m
Ans Key: 3

Solution for Question 70

eng hin G



D

Passage for Question 71, 72, 73, 74, 75 (ST-10IBPSRRBCLERKPRE(29-33R)2021)
eng hin Passage

Study the following information carefully and answer the questions given below.

Fafafaa TTasTd &1 samgd® sregaT L AT A= g ag v ® s

Eight persons - A, B, C, D, E, F, G and H are sitting around a square table. Four of them are sitting at the corners and facing towards the centre while the other
four are sitting in the middle of the sides facing opposite to the centre.

G sits third to the right of A and facing the centre. C sits third to the left of G. E is not the immediate neighbour of G and C. D sits exactly between C and A. F is
facing towards the centre. H is not near to E.

A3 ARE - A, B, C, D, E, F, G 3T H UF aWTHIT A o AT AT 95 gl STH F AT AT 9T 95 8 ST A% 67 AT ITHE & S T+ AT oI1sh & 7 o
G, A T3 AEL TIF I 43T & 3T ITH 4@ 0% il A2 gl C, G & F70 8 T 9T 927 81 E, G 31T C &7 Fahedq 9271 951 g1 D, C 3T A®F 3t 919
H 43T 2| F 71 4@ %% i1 AT 21 H, E F e 981 8

Q-71 Which of the following pair represents the persons facing opposite to the centre?
et & & #1a-a1 7w #3 % Rl 2@ arer st s afaftae wwar a2

01. AandF 02. BandF
AFTF BT F
03. AandE 04. DandF
ASTE DEES
05. CandB
C:fiTB
Solution for Question 71 Ans Key: 5
B
E A G
4 K
A4 “™H
bl | o
D + F
C

Q-72  Whoissitting second to the left of A?
enghin A aTS AT THI FIF 431 22

01. F 02. B
03. H 04. C
05. None of these
TAH H A TRl
Solution for Question 72 Ans Key: 4
eng hin B




Q-73  Who is immediate neighbors of H?
eng hin  H T TohTer TETHT 19 22

0. £.G 02. B,C
03. C.G 04. C,D
05. None of these

it & 7 T

Solution for Question 73 Ans Key: 1

eng hin

C

Q-74 What is the position of F with respect to B?
B ¥ Haer # F Ay fRurfa a7 82

01. Second to the left 02. Immediate right

03.  Third to the right 04. Immediate left
0S. Second to the right
Solution for Question 74 Ans Key: 3

eng hin

m

C

Q-75 If all the persons are asked to sit in a clockwise direction in an alphabetical order starting from A, the position of how many will remain unchanged,
eng hin  excluding A?

Tfe it ATRAT T A H 9% B AT JUTHTAT FH § TS 01 7 § 93 3 forg 27 e, a1 A F g fhaw i Rafa safiatda wefi

01. One 02. Two
T ar



03. Three 04. Four

LIGE M
05. None
FE TRl
Solution for Question 75 Ans Key: 1
eng hin B

E + G

Passage for Question 76, 77, 78, 79, 80 (ST-10IBPSRRBCLERKPRE(34-38R)2021)
eng hin Passage

Study the following information carefully and answer the questions given below.

Frafafag STasTd £ 1 samga T stegaT : AT fFRrwrr T ® s

Eight persons A, B, C, D, E, F, G and H live in an eight floored building. The lowermost floor is numbered 1 and the topmost floor is numbered 8 but not
necessarily in the same order.

The persons who live on the topmost floor is just above B. F lives on the 4th floor. D lives above the floor of F. There are as many people above D’s floor as below
the floor of G. A lives at the bottommost floor. E does not live on the topmost and 5th floors. H does not live above D.

AqMS=ARE A, B, C, D, E, F, G 31¥ H U 3% AT ST § T2 gl Jae (A=ett Tioret it 5T | € 3T 9as Susl Hiorer it &1 8 § oFh STt Ag!
T FA H N

Fg AR ST JaH SU<T HISe 9% 72T 8, B 31 F¥ g1 F ATft 7o/t 9% ¥gat 81 D, F Y #5er % 9% TgaT g1 D 3t #i5re o 9% 3a+ &t T 8 fora
G 1 \ISrT % A1 g1 A gae F=ett #irer 9% T@ar 81 E 999 FU #7591 #9e 9% 751 dl gl H, D F FA¥ 9@l @l &l

Q-76 How many persons live above the D’s floor?

eng hin Dﬁ#ﬁﬂ%m%ﬂﬁaﬁ%ﬁaﬁ%"

01. None 02. One
EIER L TF
03. Three 04. Four
e M
0S. None of these
EREEETERT)
Solution for Question 76 Ans Key: 5
eng hin
8 G
f B
6 D
5 H
4 F
3 S
2 B
1 A

Q-77  Which of the following combination is correct?
enghin  TeferfEa & & =i &1 q1s w1 82

01. G - 2nd floor 02. B — 5th floor
G - TAL A B - 541 wfvrer



03. A —3rd floor 04. C - 8th floor
A - "t C - 81 wfSrer
05. D - 4th floor
D - =tefy @ity
Solution for Question 77 Ans Key: 4

eng hin

- N Wk 01T~
MO MTIOW@O

Q-78  Who lives on the 7th floor?
eng hin  HTAE! HISIET T2 FlF T2aT 82

01. A 02. B
03. C 04. D
05. E
Solution for Question 78 Ans Key: 2
8 C
f B
6 D
L H
< =
3 G
2 E
1 A

Q-79 Four of the following five are alike in a certain way and hence form a group. Which one of the following does not belong to the group?

Raferfed o= & & 3 v+ [ a8 T us 59 € i soforn v aqg aqrg 81 Fuferfed § & w awg & d@&ted 721 82

01. C 02. D
03. H 04. F
05. E
Solution for Question 79 Ans Key: 3
eng hin
8 C
f B
6 D
2 H
4 F
3 G
2 E
1 A

Q-80  Who lives just below the floor of F?
eng hin Fﬁﬂ'ﬁlﬂﬁw‘ﬁ'@ﬁ-‘-ﬁ%%ﬁﬁwé?

01. C 02. D



04.

03. H

05. G

OO ITwOwI

OMN®©WSON -




